
90385
M4x4(S)

870/60

49/18
8mm

49/5
5mm

Parts whose Ord.No. is stated in full, e.g.
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT im 
Bausatz enthalten!!

791/40

90385
M4x4 (S)

01/05

2x 90387
M4x6(S)

64/3
8x16x5

870/61
Ø8mm

3 x 90568
8x12x1

2 x 64/9
8x12x5 (S) Ord.No. 10/24

791/40

38/2
5x16x5

90970
8x14x0,2

870/60

722/48

791/44 90385
M4x4 (S)

90055
M3x8(S)

4x 90055
M3x8 (S)

4x 90065
M3x10(S)

4x90545
3,2x9

Tieferlegung Heckabtrieb für JetCat PHT3
Ord.No. 791/200

90055
M3x8(S)

8x 90990
8x14x0,5

791/43

JetCat PHT3

90385
M4x4(S)

90385
M4x4(S)

90385
M4x4(S)

49/8

90505
M5(S)

90505
M5(S)

90566
5,3x10x1

90566
5,3x10x1

791/54

39
8x22x7

64/3
8x16x5

4x 90075
M3x12(S)

Ord.No.791/15
in Ord.No. 7910

90990
8x14x0,5

870/61
Ø8mm

860/120

90566
5,3x10x1

90202
M5x30

94/5
5x8x1,6

2x

791/41
8x19x6

2x 90387
M4x6(S)


